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GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester -IV Remedial Examination December - 2010

Subject Name: 342901

Subject code: Yarn Manufacturing Technology-I1

Date: 13/12/2010 Time: 02.30 pm - 05.00 pm
Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q.1 (@) Explain the necessity of Lap preparation for comber. Explain with
neat sketch the passage of sliver in Super lap former m/c.
(b) Explain passage of cotton in comber m/c. with neat sketch and
explain the functions of each part in the passage.
Q.2
(a) Explain principle of twisting and winding in Can Fed Inter m/c.
(b)  Explain with neat sketch, the passage of rove and yarn in Ring
Frame m/c. and explain the functions of the parts in the passage.
OR
(b)  Explain with neat sketch, the passage of yarn in Ring Doubling m/c.
and explain the function of the parts in the passage.
Q.3 (@)  Explain with sketch the , the Cycle of operations in Comber m/c.
(b) Explain with sketch , the cop building mechanism in Ring frame
m/c.
OR
Q.3 (@) Explain, in brief , different settings affecting amount of noil removal
in comber m/c.
(b)  Explain any one high drafting system used on Ring frame m/c.
Q.4 (@) Explain the functions of builder motion on Can fed inter m/c.
(b)  Explain the causes and remedies of any two yarn/package faults in
Ring frame m/c.
OR
Q.4 (a) Explain the necessity of differential motion on Can Fed Inter m/c.
Explain in brief any differential motion on can fed inter.
(b) Explain the production method of any two fancy yarns in brief.
Q.5 (@) Explain the working of roller and clearer card for waste spinning.
(b)  Work out production in kgs.of a Ring frame m/c. from the following
details.
(1) Spindle speed: 12200 rpm (2) TPI :25 (3)Efficiency of m/c.: 86%
(4) count of yarn : 36 (Ne) , No. of spindles: 400 working time:8 hrs.
OR
Q.5 (@) Explain the working of Nova cotania m/c. used in waste spinning.
(b)  Work out production in kgs.of a Comber m/c. from the following

(1) nips/min.:270 (2) Feed/nip:1/4 inch(3)Amount of No€l removal :
16% (4)Feed Lap weight:1200 grains/yd.(5) Efficiency : 90%
(6) Time :8 hrs .(7) No. of heads :8
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